FEELING HAPPY

1 Work out each of the 4 x 38 \ 2340
multiplication calculations, 127 x 13 2052

showing your workings in your

book, then match the calculation Ox 3w 124
to the correct answer. 48 x 38 2279
53 x 43 1651

2 Arugby team brought 14 coaches of supporters to a cup match.
Each coach held 31 supporters
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How many supporters were brought to the match?

3 522 x 28

4 2 344 x56 ) 75 x 137



FEELING HAPPY

ANSWERS

- Work out each of the eSS b
multiplication calculations, 127 x 13 2052
showing your workings in your

book, then match the calculation 65 x 36 1824
to the correct answer. 48 x 38 o
53 x 43 1651

2 Arugby team brought 14 coaches of supporters to a cup match.

Each coach held 31 supporters
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How many supporters were brought to the match?

14 x 31 or 31 x 14 = 434 supporters.

3 B22 x 28

14,616

4 s 344 x 56 bl 75 % 137

- 19,264 =10,275



